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October (TIGER)
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U bin = 100µm

Time distribution is fitted for the every U bin 
 of the fit— Time resolutionσT



MEAN
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*it is for the ‘left-sided’ 
we use the ‘right-sided’



SIGMA
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COORD RESOLUTION
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FWHM: (243 +/- 16) µm  

CB: (253 +/- 2) µm  


 Gaus: (311 +/- 2) µm 

Resolution is a weighted mean  
of such      distributions
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DERIVATIVE
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ST 01: straw 15
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Global coordinates for straws!!!



ST 01: straw 16
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ST 02: straw 14

10

0

100

200

300

400

500

Initial vShape

2.5− 2− 1.5− 1− 0.5− 0 0.5 1 1.5 2 2.5
U (cm)

140−

120−

100−

80−

60−

40−

20−

0

20

40

T 
(n

s)

unbVsTime-wire-after-02-ST-X-14

Entries  316867
Mean x 0.01942− 
Mean y 90.15− 
Std Dev x  0.1717
Std Dev y   26.42

Initial vShape

0.3− 0.2− 0.1− 0 0.1 0.2 0.3
U (cm)

0

0.05

0.1

0.15

0.2

0.25

0.3

 (c
m

)
U
σ

)Tσ = f(Uσ )Tσ = f(Uσ

Resolution (223 +/- 2) µm 



ST 02: straw 16
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July (APV+VMM) 
clustering with strips (maxQ > 1600)
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Three types of cluster optimisation

• “Before” — find the last Time bin with  before the 


• “After” — find the first Time bin with  after the 


• “Without” — just drop out the strip(s) with  from the cluster 
 
 
Cluster min size = 3, 

Q < 1600 TmaxQ

Q < 1600 TmaxQ

Q > 1600

Qmin = 100
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Residuals (L1 vs L2) for the chosen method of cluster optimisation

L1 cluster center calculated as a weighted mean  
without the overflow strip(s)


 
VS 
 

L2 cluster center calculated as a weighted mean  
without the overflow strip(s)

L1 cluster center calculated as a weighted mean  
without the overflow strip(s)


 
VS 
 

L2 cluster center calculated as a weighted mean  
with the overflow strip(s) *optimised*

L1 cluster center calculated as a weighted mean  
without the overflow strip(s)


 
VS 
 

L2 cluster center calculated as a geom mean  
without the overflow strip(s)

L1 cluster center calculated as a weighted mean  
without the overflow strip(s)


 
VS 
 

L2 cluster center calculated as a geom mean  
with the overflow strip(s) *optimised*
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‘AFTER’ (first TimeBin after Tmax with no overflow Q) 15



‘AFTER’ (first TimeBin after Tmax with no overflow Q) 16



‘BEFORE’ (last TimeBin before Tmax with no overflow Q) 17



‘BEFORE’ (last TimeBin before Tmax with no overflow Q) 18



‘WO’ (Just drop out the strip with overflow) 19



‘WO’ (Just drop out the strip with overflow) 20


